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(1) KE (BHETIRfE:1 Bq/L)
Cs=134+Cs-137: EHAIZEBW TR Gk, XX EfIcB VTR )

<HE>
BEEAIEIC IS IS O BIR FEHE (BOBK) (CERK244-3 A 15 H R 7 BA Er551305)
HEES A (Cs—134, Cs—137 &31) 110 Bg/kg

B K OSSP E AR D B KBS 0% P B AEE) CERL244E3 A 5 A TRk 38030555 1 5 84
B B /K S AR R )
W EES 7 A (Cs—134, Cs—137 &3F) 110 Bg/kg

(2) EE (Bt TRRAE: 10 Ba/kg(RziE))
EIRTIE, 2 TOHSN 50 Ba/kg LA T ThD, IOV T, OEIFEE O HI T
TR e [ THERS,
FINTIL, 2 TOHAD 50 Ba/kg LA T ThD, HBMH IOV T, 9FILL EOHI X
Pl ) CTHERS,
HBETIE, 2HE OIS 1 MR TR AR LR AR, 95— DD RIE 50 Ba/kg LA T
Tho, SN TWD IR DOBAE IOV T, (X6 2E M H 5,
(T)11)
Cs—134+Cs—137: A ~41 Ba/kg(#zJE) (3 AH i ~ 48 Ba/kg(HzE))
()
Cs=134+Cs-137: Akt ~13 Ba/kg(#zJB)  CX3¥AM ~ 25 Ba/kg(H2IE))

<BE> ST T AT (500 Ba/kg) DIEAHIEE () Py nimE s

500 501 1,001 1,501 2,001 2,501 3,001 At
LUF -1,000 | -1,500 | -2,000 |-2,500 | -3,000 | LIk nr
apll 22 0 0 0 0 0 0 22

(18) (0) (0) (0) 0) (0) (0) (18)
A== 2 0 0 0 0 0 0 2
(2) (0) (0) (0) 0) (0) (0) (2)




(3) JEEREE (FrH) FERAE: 10 Ba/kg(WZIE))

(m])10)
Cs—134+Cs—137: R, ~1,178 Bq/kg(BzJ2)  (3%63 ~ 1,043 Ba/kg(¥IE))

e E:0.04 ~ 0.07 uSv/h
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BRI A . —fRIE H HSPE BB E  (Ba/L)
. o o g | R | ke | B kR | BmE [waewE] s | mE e > & 4 %
(m) (cm) (mS/m) (mg/L) (J£) Cs—134 Cs—137
L&) T g KA T 11H9H [ 0.4 0.0 >100 359 <1 0.3 <1 <1
2| &A1 i B A FEmim M | 11108 i 0.3 0.0 >100 1, 360 1 0.5 <1 <1
3[R IR EE . 1LA6H| F 0.4 0.0 >100 12.0 <1 0.6 <1 <1
4| EES ARA Y] 1A11H i 0.3 0.0 >100 9.5 <1 0.2 <1 <1
5 VN JUE A 47 IR AT 11A1H i 0.6 0.0 >100 11.9 1 0.9 <1 <1
6 P KA 11A1H = 0.5 0.0 46 8.8 6 8.5 <1 <1
7 AR S 11A1H i 0.3 0.0 84 10.5 3 3.3 <1 <1
8 e AT 11H2H i 0.3 0.0 >100 14.8 3 2.1 <1 <1
9 =PIl SP=5 11H2H i 0.3 0.0 >100 15. 4 1 1.3 <1 <1
10 Ecdll] LA sy 11A2H i 0.3 0.0 >100 10.2 <1 0.5 <1 <1
11 R — i 11A2H i 0.3 0.0 >100 18.9 2 1.4 <1 <1
12 It A2 1| hif Lot 11H4R]| 1 0.3 0.0 >100 16.3 1 1.1 <1 <1
13 JL” T AR S AT 11H4H i 0.3 0.0 >100 17.2 1 1.4 <1 <1
14 K Bl Tl (JE=F) 1LA4R| ik 0.6 0.0 >100 13.9 2 2.2 ! !
15 EA =Ll EFF G 11H8H 2 0.3 0.0 >100 16.2 <1 0.5 <1 <1
16 BRI BLERG 11A8H = 0.4 0.0 >100 28.6 <1 0.3 <1 <1
17 Bl B A — B 11A8H = 0.6 0.0 >100 17.4 <1 0.3 <1 <1
18 FH WA A 11A3H i 0.5 0.0 >100 16.9 2 0.7 <1 <1
19 T ki = A 11A8H = 0.3 0.0 >100 15. 4 <1 1.1 <1 <1
20 e BJ1 b B 11H3H [ 0.3 0.0 >100 14.0 2 1.5 <1 <1
21 )1 K O 11H3H 2 0.4 0.0 >100 18.1 <1 0.7 <1 <1
22 &)1 RIFHE 116H i 0.3 0.0 85 15.5 4 2.9 <1 <1
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BRHUH A kT —%IEH WO e E R [Ba/kg (H2IB) ]
PR H PN TRIBTR s " Bt v w A %
o A i B m (cm) % FEAR Cs-134 Cs-137 &3t
L T i g KAE T 11H9H £ 0.4 3 78.8| W - B <10 <10 -
2| &A1 Jali R A FEmiE T | 11A10H & 0.3 3 84.0( W - i <10 <10 -
3[R RS - 1LA6H| W 0.4 3 79.4 W - B <10 34 34
AR TR AR 11A11H & 0.3 3 78.9( Wb - <10 25 25
5 BN JI R S 477 IRFHT 11H1H i 0.6 3 79.01 Wb - W <10 <10 -
6 Bl KNG 11H1A & 0.5 3 81.5| b - B <10 <10 -
7 AR L T LLALA| B 0.3 3 8.1 W B <10 <10 -
8 e )i R 11H2H & 0.3 3 75.3| Wb - fE <10 23 23
9 = H B 11A2H i 0.3 3 71.0( R - B <10 35 35
10 Edll| KA T 11H2A i) 0.3 3 72.2| Ab - <10 41 41
11 K HI — 11A2H i 0.3 3 77.9 Wb . B <10 27 27
12 el AR P FLofE 1LH4B| W 0.3 3 71.0 1 <10 39 39
13 ﬁ I TR I SF 18 11A4H i 0.3 3 80.8| Wb - <10 19 19
14 K e B Tt (IIiE=F) 1LH4R| B 0.6 3 79.7) - <10 28 28
15 EA =3 EH HE 11A8H £ 0.3 3 74.5| W - <10 21 21
16 s/ BLEA 11A8H = 0.4 3 81. 1| W - <10 32 32
17 o G — B 11H8H £ 0.6 3 79.6| W - <10 <10 -
18 P55 A 11H3A i) 0.5 3 72.2 b <10 <10 -
19 T b3 B G 11H8H & 0.3 3 83.5 Wb - W <10 22 22
20 Bl sl Bl SIE:S 11H3A & 0.3 3 75. 8| Ab - fiE <10 <10 -
21 S| i 4% 11H3H & 0.4 3 81.5| b - <10 10 10
22 &)1 R 11H6H i 0.3 3 79.3| b - <10 26 26
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5 T VEWEIREE (Ba/ke () 1 | vopmgi: TEERE [Ba/ke () 1 | zepmmms:
- o rn o | T e HOHFEE > 2 (| et HHTEE S 2 (u i
) Cs-137 Sv/h) Cs-137 Sv/h)
L) Rk 1 B A RARPETT 11H9H ] T <10 59 0.04| HET 22 290 0.04
2|51 Bili B A FEriiEm T | 11H10H it T <10 <10 0.04| HET <10 <10 0.04
3[R IR g 11A6A| - - - S| EE 24 340 0.04| (k) Bihiksizn L
4| EER) TR JAG 11H11H i T 14 200 0.07| HET 78 1, 100 0.07
5 LI J 15 A Eowa i 11H1H i T 14 220 0.04| HET 25 410 0.04
6 gl KA 11H1H ] T <10 130 0.05| HET 24 400 0.04
7 AR . LLALH| W HH 26 360 0.04] HUE 18 230 0.04
8 B[l NG 11H2A it E 15 210 0.04 HIE 27 360 0. 06
9 =R EELS 11A2H i e 40 550 0.06 HE 47 710 0.06
10 p3ll )15 sy 11H2A i ey 51 760 0.06 HEL 24 310 0. 06
11 KEJI — it 11H2H it T 51 760 0.06| HET 36 530 0. 06
12 ﬁ P31 R ot LALR| W R 61 1,000 0.07] HE 14 170 0.05
13 I BRI T i ISR 11LH4H[ W HH 15 180 0.04] HUE <10 91 0.04
14 K Eis]]| Tk (IASF) 11A4R| B BT 19 240 0.04| HH 25 350 0.04
15 H R Er G 11H8H & ey 22 340 0.05| HEL 11 180 0. 04
16 bl BLEHE 11H8H ] T 68 1, 100 0.06| HET 42 670 0. 05
17 B A HAE — BT 11H8HA & ey 40 570 0.04 HE 31 450 0. 05
18 P I A 11H3H i T 33 560 0.06| HET 56 740 0. 06
19 TJEe) | B3 = WG 11H8H & ey 30 410 0.06 HEL 21 350 0. 06
20 e Bl b EJ1I4E 11H3H ] T 11 150 0.04| HET 40 540 0. 05
21 il i 0% 11H3A & ey 13 200 0.04 HE <10 77 0. 04
22 i) KA 11H6H it SR 49 700 0.06) HET 29 430 0.07
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PRI

TP E R L (Ba/L)

- 2KE = - - "
FHCH PR3 Bk | BHE WAy SS HE R T A ik
No. ka4 (m) h
(m) (m) (%o) (mg/L) (3) Cs-134 Cs-137
Lo () s—31 B e o= 16,022 65| OL° E 0.6 1 <l
& 15.0 31.5 2 0.8 <1 <1
o |Ems S—34 A np| o= 0.9 %0 751 309 2 0.5 < <
T 9.9 32.3 1 0.5 <1 <1
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EHE=LIRER—E

R A - —XIEH B E R [Ba/kg (H2IR) ]
AN o EIKIR = ZoR B < e
(cm) % Cs—134 Cs—137 &t
LKA (F) S—31 11A11IA| £ 16.0 5 53.5] Tk <10 13 13
2| I B S—34 11A11H| 2 10.9 5 75.1 fib <10 <10 -
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